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N & 0l & AF S & M M
P0IBHE 5 2 3l sl YD
SH YLD
Ha: MIES HEZL U +M0A SH(SHHSLL/HI L - OfE)

SRl FMTHEES U HYAASEH CERED
SN EH - (EH) - HRAY - BES 0] &k o4 p/E-T Hl D2
oS4 &t 11,903,397 11,911,397 8,000

2 1,102,521 1,160,521 58,000

X 3,646,000 3,646,000 0

o] 20,000 20,000 0

< 1,464,902 1,455,922 9,000
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AIES HEXS L 4002 SH(SHSSL/HY 11,803,837 11,811,837 8,000

SNRNES
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| 20,000 20,000 0

= 1,464,922 1,455,922 9,000

Al 5,582,394 5,541,394 41,000
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X 496,000 496,000 0
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2 12,000 100,000 88,000

201 YBr2 | 12,000 12,000

2 12,000 12,000

01 AL 22l bl 12,000 0 12,000
OFHIYMNB (I, 2AI| S)(4)

12,000,000%4 12,000 0 12,000

2 12,000 0 12,000

401 NEHIL 2 THYI 0 100,000 100,000

2 0 100,000 100,000

01 Al bl 0 100,000 100,000

CEELISINE i 0 100,000 100,000

2 0 100,000 £100,000

2 B3 1 X O KU R A 261,468 261,468 0

307 £I2+0I & 0 6,600 26,600

02 Sl FAAY R 0 6,600 6,600

ONRS LAY DHAFA XY N

0%t 0 6,600 6,600

402 DIZHXH 20| & 16,600 10,000 6,600

01 Sl RH= A B X 16,600 10,000 6,600

ONZLAMBAS MRA JIPZY N¥ 0 0 0,000 £10,000
ONFLABAS AR BSAY

16,600,0002! 16,600 0 16,600

HSAT % =N 195,000 115,000 80,000

2 30,000 0 30,000

< 9,000 0 9,000

Al 156,000 115,000 41,000
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